Math 3 







Name: _________________________
Mod 3, Day 14






Date: ______________ Period: _____
Long Division of Polynomials
Practice: Find 
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	1.  Find a standard (expanded) form equation of a polynomial with the given zeros. 

	a)  cubic polynomial with zeros x = –5 and –4i.


	b)  quartic polynomial with zeros x = 
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	a)  
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	3.  Simplify.  Write answers in 
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	4.  Evaluate.

	a)  
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	5.  Factor completely across the rationals.
	6.  Simplify.

	a)  
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	c)  
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	7.  Determine all the zeros and sketch the graph of 
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.  Label all intercepts!

	a)  
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Degree: ___

Zeros: ____________


	b)  
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Zeros: ____________
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